Puzzle 9546 - Wednesday, 27 August, 2014 - Difficulty 10

N 13 ] | 1 11
TS| 171819 | 4f6 |23
49612235378
:2737::,‘ g,iiii,: ——— ,:‘ ::::::: ’1"57::: ::::::,‘ }7:;7"
8|3 |2|5|7|6|9|1]4
: i % ‘;iiiii‘ 717537:"‘ :1767::7 e
21 |8%3[6|5|7|4]9
i ,,,,,,,,,,,, ‘ i \7 ,,,,,,,,,,,, 1 7%11":7,::: 797,::::,::::::
5|457[2|1]9|8|3]|6
i ‘i{éj::i : ‘ é"if" : :1757::7 ::::::”iiiii:‘ﬁéiiii‘
3)6/9)7]4/8]2 5]

| I 10 1T i i
1|2 |4afo|8|7|[3F6|5
‘::::::,‘ ::::::: 787,::::: ‘ : éf:::;:::::; ffffffffffff i 97,1111‘
97 |5]6[3|1[4]8]2
i i T i | ‘ :L:t:iifﬁ: 71707:" —
6834521 ]9]7

Copyright (c) www.dailykillersudoku.com



